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BA3—2 BEYICERTHERESINSEEICREI HHIEN/1) HEFEE | FRE23ESE
C ERRRORE | areE 07951012 T o1 -G ﬁiﬁ%%ﬁ % Rl
SERMOTIRICHEET 5L AlERiHhRE
iohd LREOBBOBEENDKRES IREOURBEE NDKRES LREOBHOBEENDRES LR OERBIENDRES
&5 X % B | Timh o0 EE NOKRES X 4 THwALDKE [ S NADKES X 4 B | Limhontes ADKES X 4 timhooks | B ADKES
(m) (m) (kN/m) 6 A (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/ Mm%z 5 - ~ -|3mEHEZD -~ - -| 100kN/m%E#BZ3 - ~ -|3mERBZ D ~ -
Zh s 100|000 ~ 495 61.71 | Thst | 000 ~ 000|166 8.88 ZhLst 1001500 ~ 530 61.71 | Thst | 500 ~ 530 | 1.66 8.88
2 100kN/m##2Z % ~ -|3mEEZD ~ -| 100kN/mMi%#8Z % ~ -|3mZEEZD ~
Thish 1.00 1000 ~ 475 59.19 | #Fhst | 000 ~ 4.75| 1.81 9.71 T 1.00 ) 5.00 ~ 5.05 59.19 | TnUS | 5.00 ~ 5.05) 1.81 9.71
3 100kN/m##8 x5 ~ |3mEEZ S ~ -| 100kN/m%#BZ3 ~ -|3mEEZ D ~
Zhilst 100000 ~ 4.76 59.36 | TnAs | 0oo ~ 476| 1.83 9.77 Zh Lot 100|500 ~ 5.09 59.36 | TN | 5.00 ~ 509 1.83 9.77
4 100kN/ Mm%z 5| 1.00 ]| 000 ~ 278| 14391 |3mEEZD ~ -| 100kN/m%#z2%| 1.00 | 1064 ~ 2623\ 14391 |3mZEiBZ5 ~
Thilst 1.001 278 ~ 1056 100.00 | ZhLS | 0.00 ~ 1056| 2.95 15.79 ZhLlst 1.00]5.00 ~ 10641 100.00| ThLS | 500 ~ 2623|295 15.79
5 100kN/m##25| 1.00|000 ~ 314 150.17 |3m%EREZ 5| 0.00 ~ 189 3.80 20.33 | 100kN/m#%#B25| 1.00 | 1095 ~ 7210 150.17 |3mZEBZ3B| w0.00 ~ 72.10| 3.80 20.33
ZTh s 1.00 | 314 ~ 1093 100.00\| Fhs | 1.89 ~ 1093 5.00 16.05 Zh st 1.00 | 5.00 ~ 1095 100.00 | =n5 | 5.00 ~ 40.00| 3.00 16.05
8 100kN/m#%#BZ 5| 1.00 | 000 ~ 348| 156.13 |3mEBZB| 000 ~ 205|390 20.88 | 100kN/m%#B=25 | 1.00 | 1066 ~ 7372 156.13 |3m&#BZB| 3000 ~ 73.72| 3.90 20.88
Zhilst 100|348 ~ 11271 100.00 | Zhlst | 205 ~ 1127] 3.00 16.05 Zh Lot 100|500 ~ 1066 100.00| Ths | 500 ~ 3000| 3.00 16.05
100kN/ Mm%z 5 ~ 3mZBZD ~ 100kN/m#%#B % % ~ ImEHEZD ~
Zh s ~ Zh st ~ Zh st ~ Zh LSt ~
100kN/ Mm%z % ~ ImEBZD ~ 100kN/m##BZ % ~ ImEBZD ~
Zhst ~ Zh st ~ zh st ~ Zh st ~
100kN/mM%#2 2% ~ ImEFHEZD ~ 100kN/mM%#BZ % ~ ImEREZ D ~
Zh s ~ Zh st ~ Zh st ~ Zzh st ~
100kN/ Mm%z % ~ ImzBZ D ~ 100kN/mM#%¥B % % ~ ImEHAD ~
Zh s ~ Zh st ~ zh st ~ Zh st ~
100kN/m##8 x5 ~ ImEBZD ~ 100kN/m##BZ % ~ 3mEHEAD ~
Fhst ~ Fh st ~ Thst ~ Fhst ~
100kN/ M %82 % ~ ImEHEZD ~ 100kN/mM#Z B X% ~ ImEREZ D ~
Zh s ~ Zh st ~ ZhLst ~ ZhLst ~
100kN/ Mm% x5 ~ ImEBZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh s ~ Zh st ~ zh st ~ Zh st ~
100kN/m##8 x5 ~ ImEBZD ~ 100kN/ Mm% BZ 5% ~ 3mZEEBZ S ~
Zhs ~ Zh st ~ zhst ~ zhst ~
100kN/ %22 % ~ ImEHEZD ~ 100kN/mZ#BZ % ~ ImEREZ D ~
Zhst ~ Zh st ~ Zh st ~ Zh st ~
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